## रख-रखाव एंव अभियांत्रिकी इकाई भारतीय कृषि अनुसंधान परिषद

भारतीय कृषि अनुसंधान संस्थान नई दिल्ली-12.

सं॰ 08-77/18-19/एमईयू

दिनांक 03..01.2019

### निविदा सूचना

निदेशः , भा॰ कृ॰ अनु॰ सं॰, की और से एवद्वारा अधोलिखित निविदा कार्य हेतु के॰ लो॰ नि॰ वी॰, एम॰ ई॰ एस॰, रेलवेज, एम॰ सी॰ डी॰, लोनिवी, या अन्य केंद्र / राज्य सरकार विभाग/ अर्द्ध सरकारी एजेंसीयो के साथ पंजीकृत पाल ठेकेदारो / एजेंसीयो व विशेषकृत एजेंसीयो से मुहरबंद मद दर निविदा आमंत्रित की जाती है । एजेंसीयो के , / पंजीकरण सं॰ होना अनिवार्य है । तथा नीचे निर्देशित कार्यो हेतु विगत तीन वर्षो में दो समान कार्यो का अनुभव होना चाहिय ।

क्र॰ सं॰	कार्य का नाम	अनुमानित लागत	धरोहर राशि
1.	Repair of Irrigation Channel in the farm area of new area-B at IARI	Rs. 1,94,376.00	Rs. 4,000.00
	PUSA, New Delhi-12.		

निविदा की बिक्री हेतु आवेदन पल की प्राप्ति की अंतिम तिथि : 21.01.2019

निविदा की प्रस्तुति की अंतिम तिथि : 22.01.2019 14.30 निविदा खुलेगी : 22.01.2019 15.00 निविदा की कीमत : रू∘ 150/- माल (अप्रतिदेय)

इच्छुक एंव पाल एजेंसीया अनुसूची को भा॰ कृ॰ अनु॰ सं॰ की वेबसाइट <u>www.iari.res.in</u> और <a href="http://eprocure.gov.in">http://eprocure.gov.in</a> से विवरण को देखा
-रखाव एंव अभियांत्रिकी इकाई, निदेशालय, भा॰ कृ
, नई दिल्ली-12
रू॰ 150/- माल (अप्रतिदेय)

पर निविदा दस्तावेज क्रय भी किया जा सकता है।

सहायक प्रशासनिक आधिकारी (निर्माण/ एम॰ ई॰ यूनिट )

# MAINTENANCE & ENGINEERING UNIT ICAR-INDIAN AGRICULTURAL RESEARCH INSTITUTE NEW DELHI-12.

No. 08-77/18-19/ME Unit Date: 03.01.2019

#### **QUOTATION NOTICE**

Item/percentage rate sealed Quotation are hereby invited on behalf of the Director, IARI from the Contractors Registered with CPWD, MES, Railways, MCD, PWD or other Central/State Govt./Semi Govt. agencies. The contractor must have valid IT-PAN,VAT,TIN and service tax registration number and having experience of two similar nature of works in last three years for the work mentioned below:

S.	Name of work	Estimated cost /	Earnest Money
N		Item Rate	
1.	Repair of Irrigation Channel in the farm area of new area-B at IARI	Rs. 1,94,376.00	Rs. 4,000.00
	PUSA, New Delhi-12.		

Last date for receipt of applications for sale of quotation : 17.01.2019

Submission of quotation : up to 14:30 hours of 18.01.2019
Opening of quotation : 15:00 hours of 18.01.2019

Desirous and eligible agencies to download the schedule and details may visit IARI website <a href="www.iari.res.in">www.iari.res.in</a> or <a href="http://eprocure.gov.in">http://eprocure.gov.in</a> and deposit the fee of Rs. 150/- (non-refundable) along with requisite EMD at the time of filing of Quotation. The rates on schedule and requisite eligibility documents should be filed in a separate envelopes submitted both together in a bigger envelope in case the Quotation is downloaded from the net, else the Quotation will be rejected. The schedule of work can also be purchased on payment of Rs. 150/- (non-refundable) from Tender Cell of M.E.Unit, Directorate during office hours on any working day by producing the eligibility documents and depositing the earnest money in the form of PO/DD favoring <a href="mailto:"">"Director, IARI, New Delhi-12."</a> The Director IARI reserves the right to reject or accept any Quotation without assigning any reason. Quotations shall be submitted along with forwarding letter addressed to Director IARI otherwise quotation will not be considered.

Asstt. Admn. Officer (Works)

### Copy to:-

- 1. Comptroller Directorate for kind information please.
- 2. F. & A.O.(Audit-IV)
- 3 . AAO (Contingency).
- 4. In-charge USI to display on website.(The Quotation Notice already sent to IARI web master)

			08	-77/18-19	ME Unit
Repair of Irrigation Channel in the farm of new area-B at IARI Pusa, New Delhi-12.					
S.No	Particular	Qty.	Unit	Rate	Amount
1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge.				
	Nominal concrete 1:4:8 or leaner mix (i/c equivalent design mix)	5.00	Cum.	615.15	3075.75
2	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	350.00	sqm	22.40	7840.00
3	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in:		-		
	Cement mortar 1:4 (1 cement : 4 coarse sand)	5.00	Cum.	4970.30	24851.50
4	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate) finished with a floating coat of neat cement, including cement slurry, but excluding the cost of nosing of steps etc. complete.				
	40 mm thick with 20 mm nominal size stone aggregate	100.00	sqm	362.60	36260.00
5	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, columns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets, sunken floor, etc., up to floor five level, excluding the cost of centering, shuttering and finishing:				
	1:2:4 (1 Cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	4.00	Cum.	6547.70	26190.80
6	Cement plaster 1:3 (1 cement: 3 coarse sand) finished with a floating coat of neat cement.				
	12 mm cement plaster	350	sqm	234.70	82145.00
7	P/f of 200 mm dia PVC pipe, as per the direction of engineer-in-charge.	15.00	metre	611.30	9169.50
8	P/f of 200 mm dia PVC cap over the pipe, as per the direction of engineer-in-charge.	10.00	each	234.30	2343.00
9	Disposal of building rubbish / malba / similar unserviceable, dismantled or waste materials by truck of 8.5cum capacity, including loading, transporting, unloading to approved municipal dumping ground or approved by Engineer-in-charge.	1.00	per trip	2500.00	2500.00
		1.00	uip	2300.00	2300.00

	TOTAL	194376
Subjec	ct to be following terms & conditions:-	
<ol> <li>Inco</li> <li>1%</li> <li>The pen</li> <li>GST</li> <li>All 1</li> <li>The</li> <li>Ann</li> <li>DST</li> <li>The</li> <li>A 1</li> </ol>	work shall be executed as per CPWD specifications.  ome Tax, work Tax & work cess as per norms shall be recovered from water and electrical charges will be recovered from the bill if supplies work shall start within 7 days from the date of award and complete stalty @ 1% per day delay will be imposed on the bill amount maximum will be paid extra as per the norms of ministry of finanace. The materials, laboures, T&P etc. required will be arranged by the fir agency shall deposit security @ 5% of the sanctioned amount include yother item to be required at site to complete the work will be executed.  R-2016.  The rates shall remain valid for 180 days from the date of opening of querunning payment may be made of athe successful completion of work education, IARI has the right to reject any or all the quotation/tender.	ed by the Department. within one month failing which a um upto 10%.  ms itself. ling EMD. ted as per the lowest quoted rates on lotations/tenders. k for 1/2nd or more amount of work.
Percen	tage rate to be quoted above or below in figure on 'A' above:	
	ds:	
Seal &	k signature of the Agency	
	I/c (W & CTO)	T.A.(C)